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Find all values of x for which the graph of f lies above the graph of g. (Enter your answer using interval notation.)
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Find the domain of the given function. (Enter your answer using interval notation.)
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Find the domain of the given function. (Enter your answer using interval notation.)
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Solve the inequality. (This exercise involves expressions that arise in calculus. Enter your answer using interval notation.)
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Solve the inequality. (This exercise involves expressions that arise in calculus. Enter your answer using interval notation.)
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An old trick from Intermediate Algebra:

Factor out the negative powers:

Recall that factoring out is division inside the quantity
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Solve the inequality. (Enter your answer using interval notation.)
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NEVER CLEAR FRACTIONS IN AN INEQUALITY.
PUT EVERYTHING TOGETHER INTO ONE FRACTION ON THE LEFT-HAND-SIDE.
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We need a good enough estimate on this to lay out the number line, correctly. Off the top, we have
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